

$$\lim_{x \rightarrow r^+} f(x) = r \left[\frac{r - (-r^+)}{r} \right] + a \left[\frac{-r^+ + r}{r} \right] = \overbrace{r \times 1}^{p \times 1} + \overbrace{a \times 0}^{a \times 0} = r \times [r^-] + a [0^+] = r \quad (1)$$

$$\lim_{x \rightarrow r^-} f(x) = r \left[\frac{r - (-r^-)}{r} \right] + a \left[\frac{-r^- + r}{r} \right] = r \times [r^+] + a [0^-] = r - a$$

$$\Rightarrow r = r - a \Rightarrow a = r \Rightarrow \left[\frac{a}{r} \right] = \left[\frac{r}{r} \right] = \boxed{0}$$

$$\lim_{x \rightarrow (\frac{\pi}{2})^-} [r \sin x - 1] = \left[r \times \left(\frac{1}{r} \right)^- - 1 \right] = [0^-] = \boxed{-1}$$

$$\lim_{x \rightarrow -\frac{1}{r}} [\lambda x^r - x] = \left[\lambda \times \left(-\frac{1}{\lambda} \right) + \frac{1}{r} \right] = \left[-\frac{1}{r} \right] = \boxed{-1}$$

$$\lim_{x \rightarrow (-\frac{1}{r})^-} \frac{\log x - a + \left[\frac{r}{x^r} \right]}{19x - \left[-\frac{r}{x^r} \right]} = \frac{\log x - a - 11}{19x + 18} = \frac{1}{0^-} = \boxed{-\infty}$$

$$x < -\frac{1}{r} \Rightarrow x^r > \frac{1}{r} \Rightarrow \frac{1}{x^r} < r \Rightarrow \frac{-r}{x^r} > -1, \quad \frac{r}{x^r} < 1r$$

$$\lim_{x \rightarrow 1^+} \frac{\sin^r x}{[x] + \cos x} = \frac{\sin^r x}{1 + \cos x} = \frac{1 - \cos^r x}{1 + \cos x} = \frac{(1 + \cos x)(1 - \cos x)}{(1 + \cos x)} \quad (2)$$

$$= \frac{1 - \cos x}{1} \Rightarrow \lim_{x \rightarrow 1^+} 1 - \cos x = 1 + 1 = \boxed{2}$$

$$\lim_{x \rightarrow -1} \frac{\sqrt{rx + r^2} - \sqrt{rx + r}}{1 + \sqrt{x}} = \frac{rx + r^2 - rx - r}{1 + x} \times \frac{r}{r} = \frac{-(1+x)}{1+x} \times \frac{r}{r} \quad (3)$$

$$= \boxed{-\frac{r}{r}}$$

$$\lim_{n \rightarrow 1} \frac{r_n - \sqrt{r_n + \omega}}{r_n - \sqrt{r_n + 1}} = \frac{(r_n + \omega)^2 - r_n}{r_n^2 - r_n - 1} = \frac{r_n^2 + 2r_n\omega + \omega^2 - r_n}{r_n^2 - r_n - 1} \quad (V)$$

$$= \frac{(n-1)(n - \frac{r\omega}{r})}{(n-1)(n + \frac{1}{r})} = \boxed{\frac{-r\omega}{\omega}}$$

$$\lim_{n \rightarrow 0} \frac{a + \sqrt{bn + c}}{n} = \frac{1}{r} \Rightarrow \frac{\frac{b}{r\sqrt{bn+c}}}{1} = \frac{b}{r\sqrt{bn+c}} = \frac{1}{r} \quad (A)$$

$$\Rightarrow a + \sqrt{c} = 0 \Rightarrow a = -\sqrt{c} \quad (1)$$

$$n=0 \rightarrow \frac{b}{r\sqrt{c}} = \frac{1}{r} \Rightarrow r b = \sqrt{c} \xrightarrow{(1)} r b = \sqrt{c} = -a$$

$$\frac{ab}{c} = \frac{-rb \times b}{r b^2} = \boxed{-\frac{1}{r}}$$

$$\lim_{n \rightarrow -2\pi} \frac{f + k[\frac{n}{\pi}]}{\sin n} = +\infty \xrightarrow{n \rightarrow -2\pi^+} \frac{f + k(-2)}{0^-} = +\infty \quad (9)$$

$$\Rightarrow f - 2k < 0 \Rightarrow k > \frac{f}{2} \quad (1)$$

$$n \rightarrow -2\pi^- \xrightarrow{0^+} \frac{f + k(-2)}{0^+} = +\infty \Rightarrow f - 2k > 0 \Rightarrow k < \frac{f}{2} \quad (2)$$

$$\xrightarrow{(1) \text{ و } (2)} \frac{f}{2} < k < \frac{f}{2} \Rightarrow \boxed{[-k] = -\frac{f}{2}}$$

$$na - b = 0 \Rightarrow na = b \quad (10) \text{ به ازای } n=1 \text{ صورت اول صفری شود.}$$

$$\xrightarrow{\text{نوع اول صفر}} \frac{\frac{b}{r\sqrt{2n^2}}}{a} \xrightarrow{n=1} \frac{b}{ra} = \frac{na}{ra} = \boxed{\frac{1}{r}}$$